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CÂU 1 (3,5đ) 
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Áp dụng định luật Gauss: ρππ 3
2

2
2 ..

3

4
...4. aDRqdsD

s

=⇒=∑∫  

0
2

3

22

3

2 .3

.

3

.

ε
ρρ
R

a
E

R

a
D =⇒=⇒  

                  






 −+−=+−=−= ∫∫∫ aR

aa
dREdREdRE

R

a

aR 11

3

.

.12

.
)..(.

0

3

0

2

20 102 ε
ρ

ε
ρϕ  

b)Năng lượng điện trường: 
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CÂU 2 (3đ) 
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CÂU 3 (3,5đ) 

Tần số :   srad /10..6 7πω =      Hzf 710.3
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Cường độ từ trường: yetH )4,010.6cos(.061,1 7 ππ −=       (A/m) 

 
Véc tơ Poynting:      p=ExH=212,2cos2(6π.107t – 0,4π.z)ez        (W/m2) 


